



$$0,25 \times 32 = 8h \text{ nahládkování / vyhládkování}$$

$$0,1 \times 31 = 3,1h \text{ cesta}$$

$$A \rightarrow B$$

$$B \rightarrow C$$

$$A - B - A = 63 \times 0,25 + 0,1 \times 62 = 22,2h$$

$$C - B - C = \quad - 11 - \quad = 22,2h$$

$$\text{čelání} + \text{cesta } (A-B) + \text{cesta } (B-C) < 24$$

$$22,2 = 1,3h$$

$$\text{čelání} + 11,1 + 11,1 < 24$$

$$=$$

$$\text{int} + 22,2 < 24$$

$$13$$

$$\text{int} < 1,8h$$

$$13 \times 32 = 416$$

$$13 \times 32 = 416$$

$$\underline{\underline{832}}$$